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Nombre:
Resuelve cada problema. Respuestas
1.
1) 9,133 2) 5,180 3) 8,601 4) 4,303
+ 5,905 + 5,093 12,162 + 2,834 2
3,
4.
5 9,327 6 6,660 7 7,011 8 8,856 >
+8,660 +1,537 +2,942 +8,461 6
7.
8.
9 7,043 10) 5,744 11) 8,554 12) 8,639 9.
+ 5,993 + 3,281 +1,179 + 6,262
— — — —_— 10.
11.
12.
13) 9,796 14) 8,810 15) 9,320 16) 8,772 13.
+ 2,097 + 1,650 + 3,567 + 4,892
- - o - 14.
15.
16.
17) 7,380 18) 4,316 19) 8,572 20) 6,216 17
+ 1,958 + 1,507 15,330 + 4,646
18.
19.
20.
[I\/I t 2t ] 9 1-10 [95[90[85[80[75]70(65]60]55[50
atematiCas 4 | v commonCoreSheets.es 11-20(45]40(35]30][25[ 20 15[ 10{ 5 | O




=

Nombre: Clave De Respuestas

Resuelve cada problema. Respuestas
. 15,038
1) 9,133 2 5.180 3 8.601 4 4303
+5,905 +5,093 +2,162 +2.834 , 10273
15,038 10,273 10,763 7.137
3 10,763
4 7.137
5 9,327 6) 6,660 7 7,011 8 8,856 5. _ 17,987
+ 8,660 +1,537 +2,942 +8,461 . 8,197
17,987 8.197 9,953 17.317
- 9,953
e  17.317
9 7,043 100 5,744 1) 8,554 12 8,639 o. _ 13,036
+5,993 +3.281 +1.,179 +6,262
— — — — 10. 9,025
13,036 9,025 9,733 14,901
1 9733
14,901
13) 9,796 14) 8810 15  9.320 16) 8,772 13 11,893
+2.097 + 1,650 +3,567 + 4,892
11.893 10.460 12 887 13 664 1. _ 10,460
s 12887
6 13,664
1 7,380 18) 4,316 19 8,572 200 6,216 7 9338
+1,958 +1,507 +5,330 + 4,646
9,338 5,823 13,902 10,862 18, 9,823
1o 13,902
0. 10,862
;o 1-10 195(90(85|80| 7570|6560 |55 |50
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Nombre:
Resuelve cada problema. Respuestas
17,317 7,137 9,025 9,953
9,733 10,273 15,038 8,197 1.
10,763 17,987 14,901 13,036
2.
1) 9,133 2) 5,180 3 8,601 4 4,303 3.
+ 5,905 + 5,093 +2,162 + 2,834
— — — — 4,
5.
6.
7.
8.
5 9,327 6) 6,660 7,011 8 8,856 9,
+ 8,660 + 1,537 + 2,942 + 8,461
- - - - 10.
11.
12.
9 7,043 10) 5,744 11) 8,554 12) 8,639
+ 5,993 + 3,281 +1,179 + 6,262
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[M atematlcas] www.CommonCoreSheets.es 9 111121 8] 0




	Hoja de ejercicios
	Clave De Respuestas
	Hoja de ejercicio modificada

